Grade 12 Applied
Week 7 Quiz Debrief

Functions and Finance



1. For the following quadratic )
function:

f(x)=—-1x2+4x+3

a. Use a graphing tool. Make a
representative sketch of the function.

Significant points should be in correct ¥
quadrants.
b. State the Domain and the Range USE A GRAPHIN (-
£ L€ . 4] TUG'LIAJ
{ <<} d. Label on the sketch and state: A PPLT SXs
i yomtercept (__, ) MATH]
Vertex: ( ; ) ‘zeros' [ x- intercept(s) ] if any
Axis of Symmetry: x=_ ( s e € i)
f. Solve for x:

-8=-1x*+4x2+3
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If you were doing Pre-Calculus! Instead of Applied Math
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and if you were doing Pre-Calculus you would solve
this by:

—-8=—-1x*+4x+3
A = — et Y +1
5= }::-—Ll‘"?‘—“
- - + --'-!-"‘“
o Maybe a

0= (- -1 _
: > graphing tool
o [TE =P is easier???
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2. Danny deposits $250 monthly into a refirement savings plan (RRSP) at
the end of every month for 25 years. His bank offers an interest rate of
6.2% compounded monthly on that RRSP.

a) Determine how much his investment retirement fund will be worth

when he is ready to retire after 25 years. =2 9% , G?q ,?.!G

b) Danny does retire after the 25 years. He re-invests his retirement
fund into an income fund that pays a guaranteed 4.5% and staris to
withdraw $1,500 per month to supplement his other income sources.

Determine how many years his retirement fund will Iast. s ‘3 ﬂ w ..S
[Show a hand-drawn screenshot of your TVM App entries and solution]
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3. Winston buys a dining table and six chairs for $645. Katelyn buys the
same dining table and only four chairs for $505. Determine the cost of the

dining table. i 10 e ’
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3. Winston buys a dining table and six chairs for $645. Katelyn buys the
same dining table and only four chairs for $505. Determine the cost of the

dining table. La‘tSo-p L-JG-:] ‘lfO
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BONUS (1 MARK)

Determine how many ways all the letters in the word SHREbDIES can be
distinguishably arranged if the first letter has to be a D.
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Josh is heading home from school. He randomly selects his route home.
He is only allowed to make moves North or East. Determine the probability
he wanders past the new burger place that someone had mentioned.
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